P-756
FES-(A) 10/FES-10
Environmental Studies / TTaUT 374
(BCM/BBA/BSC/BCA/BTTM/BAY)
137 )2NP Year / 2P4™ Sem., Examination-2023 (June)
Time: 2 Hours Max Mark: 100

Roll No. (In figures):---- -

T S
Roll No. (in words) :---- - —— - —
s e

Examination Centre: ---- .

e g

Invigilator’s Signature
DO NOT OPEN THE BOOKLET UNTIL YOU ARE ASKED TO DO SO.

SCRCETEE IERESCIERCICE
FIRST READ ALL THE INSTRUCTIONS / 9&ei @+ a2 1 98 o |
Importance Instructions /q%ﬁl'qﬁﬁ%:’ﬂ
1. This paper consists of 100 multiple choice questions (M.C.Q.). All questions are

Compulsory and carry 01 mark each. There is not negative marking.

T T T H 100 STgfrehed 1 93 § | @l T e & 9 Tedsh 3R 01 37k T 2] TTetd
I o 1T, e 2 h1e S|

2. Each question has four alternative responses marked (A), (B), (C) and (D).
Youhave to choose an appropriate answer option and mark it on the OMR sheet.
ST ¥ o IR 36 [T (A), (B), (C) T (D) few 7w & | S1roeht SRt 3 forehed
3T AT X T I Hohd FATE |

3. For marking answers on OMR sheet, follow the detailed instructions given on the

OMR Sheet.

FTOTHOITRO T TX 3T T Il ol FAf~ad i oh foTe Yo X 3iferet et ot are hifse |
4. Use only Blue or Black ball point pen for marking on OMR.

STOTAOITO T forrg T o oAU sharet fiedt 3T shied! siTeT witge O ol Y SEIHT hifeTq)

P.T.O.
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Which of the following statement about the Zoological Survey of India (ZS]) is true?
a. It was established in 1890 at the Royal Botanical Gardens, Calcutta.
b. It is the first crocodile conservation breeding center in Asia.
c. It was established in 1916 to do an organized survey of fauna in India.

d. It was established in 1982 for research in Wildlife Management.

AT AT TS0 (ZS]) 3 9N § e 5 & i |1 e Tc 27
a. TATOAT 1890 ¥ T slTefehet TTeH, shetehal | sht =Y off)
b. I TRTET T U=AT TUT HTETOT ST e 2
c. TUTHAT 1916 W WA H Sial SiqaAl T Gtk Heiaqor foram T o)
d. 3EEh! TATOAT 1982 T W Sl H STTeeT o forg &1 7ig off|

2. The estimated percentage of the forest land that ideally India should have is:
a. 50%
b. 15%
c. 33%
d. 44%

TSR & & WA 6 I o {31 STATHA STaRTa ST =0t

a. 50%
b. 15%
c. 33%
d. 44%

3. The essential non-metallic minerals are:
a. Granite, marble, limestone
b. Gold, silver, platinum
c. Iron, aluminum, zinc, copper
d. Coal, clay, cement, silica
SATEYTh AHTcdeh G &
a. TFTSE, AT, AT TeoR
b. @M, =, Afew
d. e, g, e, ffererr
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4. Which layer of the atmosphere contains the ozone responsible for the absorption of UV (Ultra-
Violet) light?
a. Stratosphere
b. Troposphere
c. Mesosphere

d. None of these

TS i fohet T & T (3TegT-aTaeIE) SIS o STaRINT o f7g, ReR SIS rar 22
a. GHAY HSA
b. aryHSA

c. HEIRRIT
d. T I HE T

5. Which two countries of the world constitute about 57% of the large dams?
a. India and China
b. India and Brazil
¢. China and Brazil

d. India and Japan
Tore o ToheT QT SRIT  @THT 57% oS 911d &2
a. YA AR
b. R IR S
< SR SIS

d. R 3R SUE

6. Integrated Crop Management is defined as a process to:
a. Use the traditional methods for growing crops.
b. Using alternatives to inorganic fertilizers and pesticides.
c. Both (a) and (b)
d. None of the above
TSI Ot Tee shT Toh ST 3 &9 § gieariia foram T 2
a. HUA ITH % ToTq THRufeh qiieht o1 ST i
b. TR JaTehT ST hISATIIERT o fIehedl T STANT LTI
c. @Ml (a) 3 (b)
d. SHIEH ¥ HE &

P.T.O.
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7. Which of the following is not a measure of sustainable water management?

a. Preventing leakage from dams and canals
b. Reducing the rate of surface run-off water.
c. Preventing loss in the municipal pipes.

Building small reservoirs in place of a few mega projects.

ﬁmﬁ%aﬁﬁﬁq%%mwwwm?ﬁ%?

a. Gl SR @ @ o Tt
b. TR T hT & AT FH FHLATN
c. HTRTICTShT ATgHT H B STel ToHET i ekl
d. FS S UNESHISA! & T W BIE STATT 1 HH]
8. Which element is considered the largest source of world's commercial energy consumption?
a. Coal
b. Oil
c. Natural gas
d. Nuclear
M W1 e o i SATaETieh STl @Ud 1 Te ST | HHT ST 87
a. AT
b. 3T
c. Hﬁfﬁ% bite)
d. 9
9. What is the world's largest potential source of biomass energy?

a. Animal waste
b. Industrial waste
c. Fibrous waste of the paper industry

d. Fibrous waste of the sugar industry

STHTE Ss1 ol ford o1 Terd a1 GTierd G o 82
a. ‘ﬁlm
b. e smfie
c. IS TN oAl WIEK U
d. =t 3T T WRIeR Uiy

10. Which of the following is also called Detrivores?
a. Herbivores
b. Decomposers
c. Carnivores

d. None of the above

P-756/¢s (4) 10 4



11.

12.

13.

frefafaa 4 @ forer Sfeard oft st StTaT 22

a.
b.

o

&

The type of forests grown in the Himalayan mountain region is called:

a
b.

e o

feHTeTa e & § I Tt 1 o TR hT SHET ST 2

IS

o

Which insects live and breed in the forest area?

STTRTERT
EEH

qrETERy
IYUh | H 1S T

Broad-leaved forests
Coniferous forests
Deciduous forests

None of the above

EISRNICIKECE)
MECINCE)
Uit}
SYURE T § IS &

a. Bees
b. Moths
c. Butterflies
d. All of the above
I Y hle I & | Ted 3T IS L 22
a. H‘gﬂﬁl’@m
b. T
c. foafermt
d. IHIE @t

Jowar and Bajra grow in the areas that have:

a. High moisture
b. Little moisture
¢. No moisture
None of the above
SR aﬁt Ry freferfaa & & 3 &:
a. Sod 9
b. ot
c. IS AHITE
d. 3 | ¥ RS ol

P-756/¢s (4) 10
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14.

15.

16.

17.

Which of the following activity can lower the water table?

a. Soil erosion
b. Growth of human population
c. Over extraction of groundwater

Over grazing

ﬁmﬁ%ﬁﬁﬁﬁqmnﬁ%ﬁwwaﬁwwmév
a. Hal AU
b. THE SHEEA I R
c. ST T AT dred
d. Tt =g

Brackish water ecosystems are found in which of the following:

a Streams
b. Wetlands
c. Coastal shallows

d. Deltas
QT S qTiReerfashl o fFmferfaa o o foras o StraT @

a. ‘HR'FI

b. M
C. ﬂﬁﬂm
d. Iwew

Name the drug associated with the plant source tea or coffee?

a. Opium Poppy
b. Thorn apple
c. Caffeine

d. Camphor

TTeq Wi = I Hih! O Gaiferq iy 7 T19 F/qre?
a. HH qrE

b. FHeTES
c. FEN
d. R

LN

Which sacred grove act as the gene banks for wild plants?

a. Deorais
b. Jahera
¢. Mauhak

d. None of these

P-756/¢s (4) 10 6



I GT aferT U STl Gt o fofu S sk & &9 1 s ohter 87
a. é‘olTlé‘H
b. SRU

c. High
d. 9 HE T

18. What are the numbers of biodiversity hotspots in the world?
a. 18
b. 28
c. 32

d. 36

for o St farfereran gfewdie i e forat 22
a. 18
b. 28

32
d. 36

19. The major part of the extinction of species occurs in which of the following bio-rich areas?

®

Tropical forests

Wetlands

=

Coral reefs
All of the above
wﬁﬁ%%wéﬁaﬁrmmﬁw%ﬁaﬁﬁﬁ%aéam?ﬁ?ﬁ%ﬁm%ﬁ
2 IR
b. R
d. IHIE &t

°©

20. Which of the following species is used in indigenous medicine?

®

Zizyphus

=

Tamarind

Babul

None of the above

ﬁmﬁammwwmmﬁmw%
a. TSifseer
b. sHSAT

RIEC

S | T IS Tel

°©

o

o

P.T.O.
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21. Which of the following element is responsible for groundwater pollution in various states?

a. Chlorine

b. Fluoride

c. Chemicals

d. None of the above

Terforey Tt o sfstet sewor o fore feferiad # & =i a1 dedl forram 2

a. FARM
b. WIS
c
d

BERCTIRE]
. JWIE | Y IS TRl
22. The most frequent and naturally occurring disaster is:
a. Drought
b. Tsunami
c. Flood
d. Earthquake
T 3T T B ATt 3T TTehfeh €9 § B aTel! 37947 &:
a. q@r
b. g
c. dig
d. s
23. The worst natural hazards in the tropics are:

a. Tropical cyclones
b. Tsunami
c. Floods
d. None of the above
I ShfeaTer H Herdt GeT YTehfoish Wl &:
a. SRS TshaTd
b. A
a. dlg
b. SYURE U ¥ g T

24. UNCED stands for:
a. United Nations Corporation on Environment and Development
b. United Nations Conference on Environment and Development
c. United Nations Corporation on Environment and Disasters
d. United Nations Conference on Environment and Disasters
UNCED T 379 2:
a. WRITeROT SR forehrer ot weh Treg fmm
b. TEfeRer SR forehTd Tt Eh g AT
c. TR SR HATIEAT W Egh g fmm

P-756/¢s (4) 10 8



d. TTERT SR SATIETSH X EYh Usg qHeT
25. The adaption of traditional medicine in industrialized countries is termed as CAM, which
stands for:
a. Cooperative and Alternative Medicine
b. Complementary and Associative Medicine
c. Cooperative and Associative Medicine
d. Complementary and Alternative Medicine
Sivehfies it 3 T e 3 ST F1 CAM T ST 2, e o1

RN 3 Jehfeueh ffercar

a
b. I 3 ANt fafercar
c. TEHN AR HEArt ferfercar
d. 9T 3R Fshfoush faferca

26. The most dangerous radioactive air pollutant is:

a. Strontium-90
b. Calcium-40

c. Copper-40
d. Phosphorus-32
G AT ST AT T €

a. TIH-90

b. HicTRT-40

c. d=-40

d. BERRH-32

27. Plants and animals living in an area constituent:

a. Population
Community

b
c. Ecosystem
d

. Ecology
Torelt &1 | Te aTey der TR ST w1eeh:
a. oTEmGl
b. W
c. UTCReerfaehr a
d. it

P-756/¢s (4) 10 9
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28.

29.

30.

31.

The pioneers of vegetation are:
a. Fungi
Lichens

b
c. Bacteria
d

. Algae
LT o YOI 8;
a. ©chdeh
b. g
c. s

d. &

Which one is an endangered animal?

a. Chimpanzee

b. Gorilla

c. Gibbon

d. Monkey

I |7 T JHITT SR 82

a. feHOST

b. T

c. fieem

d. s

About 90% of the total biomass produced on the earth is through the following:
a. Ocean
b. Forest
¢. Grasslands
d. Crops
Teeft TR ST e ST T T 90%, Frferfaa & Are & g 2
a. HIMEIM

b. o9
c. U@ H HEH
d. W

Interconnection between different food chains is called:
a. Trophic level
b. Food web
c. Energy Flow
d

. Ecological Pyramids
fafir @mer saerstt & ff siqdsy weard 2
a. flﬁo_eﬁw
b. @Ead
c. ol yaT®
d. itfrfae foufre

P-756/¢s (4) 10 10



32.

33.

34.

35.

Ozone layer belongs to which of the following layers of atmosphere?
a. Homosphere
b. Stratosphere
c. Troposphere
d. Mesosphere

A T ATHSA i FAaRead H & o T & Heiferd 22

i

SRt Eer)
. UEEARR

e o oo

The plan to inter-link the rivers of India is known as:
a. Indira Gandhi Plan
b. Atal Bihari Bajpai plan
c. Rajeev Gandhi plan
d. Dastur plan

T Sl AT b7 ST | SIS sl JATSHT et =

a. g%rrrnu"rthw

b. 31ed forerl STTu=ft FrsmT
C. ﬂeﬁam‘%ﬂvﬂw

d. TEEIARET

Biodiversity means:
a. Genetical diversity
b. Species diversity
c. Ecosystem diversity
d. All of the above

ot farfererar =t 31 &
a. aaaﬁw‘r%{‘r\aw
b. St ffarerman
c. urieferfashy @ ferfereran
d. TR |t

‘Minamata disaster’ in Japan was caused by Pollution due to:
a. Lead

b. Mercury
c¢. Cadmium
d. Zinc
ST H AT SATIET G0 o6 R g off:
a. Uh 11'{'PT
b. ¥
c. hehrm
d. =

P-756/¢s (4) 10 11
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36. The first Act of the major Environmental Protection Act to be promulgated in India was :

a. Water Act
b. Environmental Act
c. Air Act
d. Noise Pollution Act

I H ST B ST SH TeR0T GEToT ST sh qeett SAferf-rare o :
a. ST AIT
b. TTERoT e
c. 9 Aty
d. e SgwoT St

37. Maximum density of water is at :

a. 4°C
b. 0°C
c. 100°C
d. 272°C

STeT ST TR ™ Tea € :
a. 4fsft @
b. 0 feft afcaza
c. 100 feft afcog
d. 272 faft afcoag

38. The Chairman of the National Disaster Management Authority is :
a. Home Minister
b. Vice-President
c. Prime Minister
d. Minister of Human Resource Development
TR HTIET Tefer STTRIshIT T STETET < -
a. 1€ el
b. STrZfd
c. T HAT
d. g gETe foee wet

39. WWEF stands for:
a. World Wide Fund
b. Women Wrestling Federation
c. World Wide Forest
d. World Wealth Federation
WWE 3T 379 2
a. dee A3E e
b. TfeeT et de
c. fag=mdtam
d. fag o neme

P-756/¢s (4) 10 12



40.

41.

42.

43.

The dangerous radioactive air pollutant is :
a. Ca-40
b. Thermal
c. Sr-90
d. Soil
REERCNISICRERIELIE IR ERCEE
a. ®IT-40
b. oWd
c. ®ifRrR90
d. fagt

UV radiation causes:
a. Liver cancer
b. Lung cancer
¢. Mouth cancer
d. Skin cancer
Elfﬁ forfepor & s
a. ot HET
b. HEST HT HAT
d. o e

The Air (Prevention and Control of Pollution) Act was enacted in:

a. 1971
b. 1991
c. 1981
d. 1982
AT (TIOT 26T el AT Fparor) aferferm stferfre fopam i o:
a. 1971
b. 1991
c. 1981
d. 1982

Environmental Protection Act in India was enacted in :
a. 1974
b. 1976
c. 1980
d. 1986
IR § qaror Teeqor Tt srferfamifira fomam mam o
a. 1974
b. 1976
c. 1980
d. 1986

P-756/¢s (4) 10 13
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44.

45.

46.

47.

CBDis:
a. Convention of Biodiversity
b. Convention of Biological Diversity
c. Council of Biodiversity

d. Conservation of Biological Diversity

et 2:
a. g fafererdr g T
b. St fafarerar &1 o
c. o fafererar uftre

d. Sfeens fafererar s deeor

Soil salinity can be measured by :
a. Potometer
b. Porometer
¢. Calorimeter

d. Conductivity meter

T T AT AT S H 2
a. dEHIeX
b. WX
c. eI
d. =ITeThdr HieT

The atmospheric UV radiations are absorbed in the zone called :
a. Troposphere
b. Stratosphere
c. Mesosphere

d. Thermosphere
FRHEE TS faferTon it fore & stammif foram ST 2 -

a. avHeSd
b. TARER
c. HEEERR
d. emiEhRR

Carbon dating is used to determine the age of :

a. Rocks
b. Plants
c. Fossils

d. None of the above

el ST o1 AT fepeht STy frertied e o for fepsar St =:
a. @gH
b. g

c. Siamd
d. I9UH T O HIS T

P-756/¢s (4) 10 14



48.

49.

50.

51.

Green house effect is due to the presence of:
a. Ozone layer in atmosphere
b. Moisture in atmosphere
c. Increase in lead
d. CO2 atmosphere
T T138 Ta ferereht Sufeerfr & RoT gt 82
a. SIHSH H ASIH W
b. STATERET § AHT
c. demHafg
d. CO2 drdreer

Asian Lions are generally found in:

a. Sunderban

b. Rajaji National Park

c. Gir National Park

d. Dudhwa national Park
TfITITE S ST A R U S 8

a. Haad

b. TSITSH TSR 3T

c. fr TS T

d. ZoE T SEH

Noise is harmful to hearing at the level of:
a. >70dB

b. <80dB
c. >80dB
d. >60dB
TR fore TR R G % fore e 2
a. >70 st
b. <80 el
c. >80 Erelt
d. >60 el

'Bombay High' is associated with:
a. Solar energy
b. Petroleum
c. Hydroelectricity
d. Water sports
"SITFS] BTS' Tohed EFiferd 87
a. "R
b. ugiferad
c. SR

S

d. < shrer

P-756/¢s (4) 10 15
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52.

53.

54.

55.

From which tree kattha is obtained?
a. Khair
b. Kachnar
c. Neem
d. Jatropa

el foRE a7 & ITH e 22
a B
b. FER
c.
d. Stgr

In grass—insects—> frog—snake, the frog is:
a. Secondary consumer
b. Primary consumer
c. Secondary producer
d. Both (a) and (c).
RIESE ﬁ—)ﬁ%—)ﬁﬁ—)@, e &
a. gk SRt
TIfEeh STHITH
facfrereh 3carash
3T (T) ST (&)

g o o

The study of population is called:
a. Demography
b. Biogeography
c. Topography
d. Biography.
STTETEAT T ST FHEAT & -
a. SHHIRETh
b. STEHTA
c. TSR
d. sfteh

The concept of ecological pyramid was developed by:

a. Reiter

b. Elton

c¢. Odum

d. Darwin.

uricerfaes fUrfirg it staemon feraeh g femmfra i g o

a. BX

b. U T

c. g

d. eI

P-756/¢s (4) 10 16



56.

57.

8.

59.

Who wrote book 'On the Origin of Species'?
a. Aristotle
b. Charles Darwin
c. Ermnst Mayer
d. Watson and Crick.
T T SRS AT Tefrefist gecrh fopar foredt?
a. STE
b. =Ted ST
c. FEUAW
d. dfedd 3R ol

First national Water Policy was adopted in the year:
a. 2000
b. 1999
c. 2001
d. 1987
TR TS STt A1l fordl Y T9TS 715 off:
a. 2000
b. 1999
c. 2001
d. 1987

Wildlife week falls in:
a. October
b. July
c. September
d. March
I ST HHTE USdT e
a. HdgsH
b. IS
c. fadsr
d. =t

The most famous Earth Summit is held in 1992, was organized at:

a. Helsinki
b. Kyoto
c. Rio-de-Janerio

d. Johannesburg

T it gt et awie 1992 § strRifSi foram ma o
a. AR
b. FRI
c. ferismfar
d. STt

P-756/¢s (4) 10 17
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60. The seed oil of which plant species is being projected for use as a substitute for diesel?
a. Azadirachta indica
b.  Ricinus communis
c. Jatropha curcus
d.

Cocos nucifera.

forr dver Y ST o ofisT o dcT ol SISTel o farshed o &9 H SYAIT o foTT SRedtierd foha ST TeT 292
a. () ASTTIeaT Sfeaht
b. () el ey
c. (&) SISIHT FHE
d. () FrEE =

61. 'Minamata disaster' in Japan was caused by pollution due to:
a. Lead
b. Mercury
¢. Cadmium
d. Zinc
ST H TAHTAT SATIET G0 o HRT g off:
a. e
b. AR
c. hefram
d =&

62. The book 'principles of Population' was written by:
a. John Cook
b. Robert Hook
c. Charles Darwin
d. T.Robert Malthus
ST 3 gt g ok SR forelt TS off:
ST 3
NS
T STfeA
CIRIECAEI k)

o oo

63. Maximum density of water is at:

a. 4°C
b. 0°C
c. 100°C
d. 272°C

ST T AR B © ;
a. 4 foft afcoaa
b. 0 feft afcemw
c. 100 fetft wfce
d. 2720

P-756/¢s (4) 10 18



64.

65.

66.

67.

In the atmosphere, the layer above the troposphere is:

a. Stratosphere

b. Mesosphere
c. Thermosphere
d. Exosphere
IRHS H AHE oh FUL hl T 2:
a Q&ﬁﬁ%‘q‘{
b. HARHRI
c. YHTEHRR
d. wferdea

The Forest (Conservation) Act extends to the whole of India except:

a. Uttar Pradesh
b. Karnataka
¢. Jammu Kashmir
d. Haryana
I (ETEOT) AT fTRad i Bigeht I W | AT 8
a. ST

b. FHAIH
c. ST HIHR
d. =i

UV radiation causes:
a. Liver cancer
b. Lung cancer
¢. Mouth cancer

d. Skin cancer

@%@W%W:
a. e hET
b. ST T HH
d. oI R

The first national park of India is situated in:
a. Assam
b. Madhya Pradesh
¢. Tamil Nadu
d. Uttarakhand

AT T JeAT T S ford 2:
a. Iq9H
b. WET YT
c. ﬂﬁ?ﬂ'@'
d. UGS

P-756/¢s (4) 10 19
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68.

69.

70.

71.

Ozone hole formation is maximum over:
a. Arctic
Europe

b
c. Antarctica
d

Between 1950 and 1990, the world's energy needs increased by:

a. Two folds
b. Three folds

c. Four folds
d. Five folds

1950 371X 1990 o st forg 31 Sl STTawehRaral § 9ig g:

a. AT

b. dF T
c. dTRTE
d. 9= TET

Silent valley is located at:
a. Kerala
b. Mabharastra
¢. Andhra Pradesh
d. Tamil Nadu.
Ex
HERTCE
TS JawT
. dfHeHTg)

e o oo

The 'Hot spots' are areas of:
a. Hot springs
b. High biodiversity area under threat
c. Warm places
d. Grasslands.
gte Tt ffafaa & &
a. THEIH
b. T H == S fafererar arer &
c. THEIM
d. =% i

P-756/¢s (4) 10 20



72.

73.

74.

75.

Correct answer of food chain is:
a. Insect—Grass—>Bird—Frog
b. Grass—Insech—> Frog— Bird
c¢. Frog—Bird— Grass—Insect
d. Bird—Frog—Insect—>Grass
T T 3l T8l S &
a. He-uE-uel- HeH
b. HE—ahIE—HeHh—Teft
c. Heh Ut —uE—He
d. uefl- ek dhie- um

Maximum pollution in river Ganga is at:

a. Varanasi

b. Haridwer
c. Kanpur
d. Agra
iy s 3 vt g e AT 32
a. SIUTET
b. BGER
c. AR
d. T

Where maximum earthquakes occur?
a. Saudi Arabia

b. Japan
c. Iraq
d. Iran
HaTiTerh 9T el 3Td o7
a. H3Hal A
b. SMA
c. 3Uh

d. A

Logo of WWF-N is:
a. Red Panda
b. Polar Bear
c. Giant Panda

d. Tiger

WWEF-N & &I 2:
a. oI giel
b. gl s
c. fommeraier
d. o™

P-756/¢s (4) 10 21
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76.

77.

78.

Phytoplanktons are:

a. Herbs

b. Trees

c. Shrubs

d. Microscopic floating plants

Exchange of outgoing and incoming radiations that keeps Earth warm is known as
a. greenhouse effect
b. radiation effect
c. infrared effect

d. ozone layer depletion

e} ohT TH T STl STeT ST aTe 37 3T ATt TRl 3 STTaM-SaT oh el ST &
a. UHERE T9E

b. faferor e
c. I IHE
d. 3SR T &

Higher energy level and shorter wavelengths are features of
a. beta radiation
b. alpha radiation
c. ultraviolet radiation
d

infrared radiation

a. sfer fafertor

b. 37T fafemor

c. TeTHT faferor
d. s fafemtor

P-756/¢s (4) 10 2



79.

80.

81.

Methyl chloroform, carbon tetrachloride, hydro fluorocarbons and chlorofluorocarbons are

mainly known as
a. mesosphere building substances
b. troposphere building substances
¢. ozone building substances
d. ozone depleting substances

TS AR, 1o CLTFANZS, BTEGT FARIHIS I FARGARIHTS 2l T &9 § ST ST

H
a. TEEERR fmior yaret

b. eSS fuior yerd
c. 3TN fHor veTef
d. TSI &R geref

Colour of ozone molecule is
a. blue
b. white
c. paleyellow
d

pale green

SIS 3707 7 TT %
a. e
b. "

c. Booh diar

d. TTHRIET

Chemical group 'Halons' are emitted in

a. Montreal

b. Iceland
c. British Columbia
d. Greenland
T T Rl T et gt &

Hifegaret

a.

b. IFES

c. Terfesr wicifermn
d. s
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82.

&3.

&4.

Earth's largest ice volume is present in
a. Himalayas
b. South America
c. Antarctica
d. North America

qoeft O e STfere T T ST el HISE 22
a. %‘TIW
b. gferor smfEn
Cc. ITCTehidehT
d. Il iR

Sum of all ecosystems is classified as
a. aero sphere
b. ionosphere
c. biosphere
d. ozonosphere

qft aTftcET ok AT ol 38 TehR affeRa foRaT T B
a. TS &T
b. FIHSA
c. SaHed
d. STSFARERR

Earth's most snow covered area (SCA) is located in
a. Western Hemisphere
b. Eastern Hemisphere
c. Southern Hemisphere
d. Northern Hemisphere

% H Toh oo TG & i T fohall 71T 3
a. YT o &
b. el ok s =mel
c. gt o i At
d. gt o &

P-756/¢s (4) 10 2



85. The multi-crore project about the Ganga Action Plan came

a. 1905
b. 1955
c. 1985
d. 1995

TITTT TR ST ol ieht SISl ohT SISt 3T

a. 1905
b. 1955
c. 1985
d. 1995
86. The Ganga runs from Gangotri through a hundred towns and cities in

a. Uttar Pradesh and Bihar

b. Uttar Pradesh, Bihar and West Bengal

c. Uttar Pradesh

d. Uttar Pradesh, West Bengal and Haryana

T T & Serel et ST el O Biehd sigdl @
a. Wﬂﬁﬂaﬁ(%@?

IR Yo, forew 3 ufsw simer

o ST IS

I TSI, YT ST ST g

& o o

87. The three R’s to save the environment are
a. Reserve, Reduce, Recycle
Reuse, Reserve, Reduce

Reserve, Reuse, Reduce

&0 o

Reduce, Recycle, Reuse

TTeT ol s o i AL E
T ST, SRR, FH L
HATRRIA AT, TH: STANT AT, FH HLAT

e oo
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88. The concept of ‘Biosphere Reserve’ was evolved by

a.
b
c.
d

SRR fte sh 7o fores g forenfera it e ofi?

e oo

Government of India.
Botanical Survey of India
UNESCO

UNDP

AT T
WA I el gaeqor
TR

o

PLEEiki)

N

89. Measure of biodiversity of an area is

a.

b
c.
d

The number of species found there
The range of different life forms
Both (a) and (b)

None of these.

forelt &1 <hl S fafoaar s ama @

e oo

T UTE ST ATt JSTferat ht T
fafir= Sftem =t i dimr

. @M (a) 3 (b)

. T Y HE T

90. Primary source of water is

a.

b
c.
d

Rivers
Ground water
Lakes

Rain water.

STl ST ITeh € &

a.

b
c
d

afeat
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91. The environmental lapse rate is found to be:

a.

b.
c.
d

6.5°C/km
8.6°C/km
6.5°C/km
5.6°C/km

freferRaa o & =i Taferofi oad &

e oop

6.5°C /ferft
8.6°C/fepHt
6.5°C/fRY
5.6°C/forrft

92. Which of the following on inhalation dissolved in the blood hemoglobin more rapidly than

oxygen?

a.

b
c.
d

Sulphur dioxide
Carbon mono-oxide
Ozone

Nitrous oxide

qig o W fefafad § & i @ § Srciior sieise i qom 3§ 21fe dsit & 9o ST 82

o oo

HTHL SRATHES
e AHI-3ATHATES
ot s
EISSICIERIES

93. Taj Mahal at Agra may be damaged by:

a.

b.
c.
d

Sulphur dioxide
Chlorine
Hydrogen
Oxygen

ST & TS HE h1 T & Hohell 2

o oo

TTH SRS
FARNT

HEEISE]
STt
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94.

95.

96.

Oxygen Demand is a measure of:
a. Industrial pollution
b. Air pollution
c. Pollution capacity of effects
d. Dissolved O2 needed by microbes to decompose organic waste.

e TR SATerediSI /T fohereht HTeT &
a. ﬁ@'&@ﬂ?«;ﬁm
b. SN
c. wra%aﬁuagvrm
d. eifreh sTafiTe st fosfed s o forg Immupett ot gemetier 02 6 Traweshan

Excess fluoride in drinking water is likely to cause.................:
a. Blue baby syndrome
b. Fluorosis
c. Change in taste and odour

d. Intestinal irritation

o o It § FARTES ST SRR % BT B AT HHTHT Biet &
a. ﬁéﬁ%@q
b. FARIGH
c. TG R IY F T
d. A ST

The reason for certain animals getting endangered are:
a. Hunting
Pollution of environment

b
c. Natural calamities
d

All of these
T STA oh AT B o R &
a. PR EFET
b.  TTEROT SEOT
c. H@%W@
d. Imefr
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97. The highest moisture content is in:
a. Garbage
b. Rubbish
c. Hospital waste
d. Agricultural waste

Hoferes TH HI AT BT R ;
a. I
b. hd™E
c. ATATA ohl shell
d. &Y smafie

98. Study of trends in human population growth and prediction of future growth is called
a. Demography
b. Biography
c. Kalography
d. Psychology

T ST gf Y SR T stem T afess i gfg S wfersrarft et &

a. SHHIReIh!
b. SfteHt
c. AT
d. wAfesE
99. Because of deforestation, decreased transpiration leads to

a. less cloud formation

b. more cloud formation
c. more water storage
d

more oxygen

1 T TS o SHIUT S AT eI o T ... H
a. hH dTed SFd

b. 31ftres Sed sHq
c. 3fereh et WEROT Brar
d. it e st

P.T.O.
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100.  List prepared by International Union for Conservation of Nature and Natural Resources for
endangered species is classified as
a. Brown List
b. White List
c. Black List
d. Red List

THIT STt o ToTQ Tehfr TR STehfereh S@Te o STafor o foTq STaisgiar € g o o6l 718 =it

T arffehet fofam T @
b. AqgEh
c. s foRe
d. e gt

sk sk sk sk sk sk sk sk sk skosk sk sk skoskoskok
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